FEDVOTE

Stab

The next federal election will be held in October. Using a 1-10-10 scale, where 10 means you are completely cetain you will vote and 1 means you are completely certain you will NOT vote, how likely are you to vote in the upcoming federal election?
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Detailed Tables

TOTAL Male Female Party Party Party (NDP) (BQ) Party Party other party ballot ure

A B C D E F G H 1 J K L M N o P Q R S T U v X Y z a b c d e
10 Completely certain | will vote 64% 69% 59% A7% 58% 7% 56% 63% 63% 71% 80% 71% 59% 74% 58% 100% 27% 9% 49% 35% 54% 60% 57% 67% 85% 92% 52% 65% 82% 43% 51% 73%
7 5% 4% 6% 9% 6% 2% 10% 5% 3% 4% 3% 5% 7% 4% 5% - - % 6% 8% 9% 8% 5% 3% 1% - 12% 4% 0 5% 8% 4%
6 2% 2% 3% 2% 4% 1% 1% 1% 4% 2% 1% 2% 1% 1% 11% - - - 5% 4% 1% 6% 3% 1% 0 - 1% 3% [ 4% 5% 1%
5 4% 3% 4% 6% 5% 1% 6% 5% 3% 2% - 3% 2% 2% 6% - - 2% 12% 8% 5% 3% 7% 1% 1% 1% 6% 3% 2% 6% 7% 0
3 0 0 0 - 1% 0 - - 1% 1% - 0 - 0 1% - - 1% 1% - - 1% 1% 0 - - - 1% 0 - 1% -
2 1% 0 1% 1% 1% 0 1% 1% 1% - - 0 - - - - - 7% 1% 2% - 1% 1% [ - - - 1% - 1% 1% [
Don't Know 3% 1% 4% 4% 3% 2% 4% 3% 2% 1% 1% - - 2% - - 27% 4% 11% 5% 3% 3% 4% 3% 1% - 1% [ 1% 6% 6% 2%
B2B 5% 4% 6% 6% 5% 5% 6% 5% 6% 3% - 0 - - - - - 73% 1% 6% 5% 6% 4% 6% 4% 4% 2% 5% 4% 8% 5% 6%
B3B 6% 4% % 6% 6% 5% 6% 5% 6% 5% - 0 - 0 1% - - 74% 2% 6% 5% % 5% 6% 4% 4% 2% 6% 4% 8% 6% 6%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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And is this party the same party or a different party from the one you voted for in the last Federal Election?

EDUCATION

DECIDED-VOTEf

Detailed Tables

FEMALE
Would not
e TheNew  TheBloc vote/NoneW  Don't
ervativ The Liberal Democratic  Québ The Green Orsome ould spoil  Know/Not
TOTAL Female Univ Grad e Party Party  Party (NOP) _ (BQ) Party other party _ ballot ur 3 3
A B c D E F G H ] 3 K L M N o P o R S T u v w X Y z a b c d e
Base: Decided Voters Leaners 717 344 373 134 268 314 36 116 326 238 156 293 65 31 64 7 Z 0 o a1 53 120 149 139 149 26 51 148 145 &3 121 169
Weighted 378 156 182 76" 138 165 63" ) 135 53 3 158 25" 73" 25" 7 i E E 30+ 75+ 57+ 81 7 76 16+ 36" 0 81 70 ER 8
222 121 101 38 [ [ 3 46 80 61 38 115 18 aL 7 2 [ 0 [ 8 30 a0 52 0 a3 9 20 55 6 18 37 a7
same 59% 61% 5% 50% 66% 56% 56% 51% 60% 66% a1% 73% 60% 56% 23% 52% 12% - - 26% 66% 69% 64% 56% 56% 5% 56% 69% 56% 4% 63% 56%
CE [ N N N N ©
128 67 2 21 Ed 70 21 EJ a7 % a0 E 8 %8 19 T 1 0 o g fEy 3 % 30 & 7 1 20 E g 18 E
Different 34% 34% 34% 28% 27% 43% 33% 39% 35% 28% a9% 21% 27% 38% 64% 23% 33% - - 3% 25% 2% 31% 1% 4% 5% 3% 25% 3% 23% 31% 2%
[5) T KL K KL U O a ©
2 ° 19 7 ° 2 7 8 8 s 4 10 4 4 4 1 2 0 0 13 4 s 4 2 0 0 4 5 0 13 4 2
1 did not vote in the last Federal election
7% 5% 1% 23% 6% 1% 1% 9% 6% 6% % 6% 13% 6% 13% 25% 5% - - 3% 9% 9% % 3% - - 10% 6% 1% 33% 7% 2%
A DE E 3 3 X X X b b Ge
Sama 379 1% 182 76 139 165 63 89 135 93 8 158 29 73 29 7 3 0 [ 30 3 57 81 7 76 16 36 80 81 0 59 8
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNVIWIX/Y - Zlalb - clde Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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How certain are you that this is the party that you will actually support on Election Day?

TOTAL

Female
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FEMALE

Detailed Tables

Male e Party party _ Party (NDP) __(BQ) Party other party _ ballot sur
A B c D 3 F G H I 3 K L ] N ) P [ R s T [ v X 2 z a b c d e
Base: Decided Voters Leaners 01 08 60 297 37 %0 E7) 357 777 FE] 527 73 150 B 7 & [ [ ) Tz FEE] 761 761 EQ 7 162 Tod S T3z 183
Weighied 768 225 106 62 201 73 7 166 Be) 101 107 £ 2 £ 7 & E e w0 5 707 52 ) 2 5 o1 £ 52 7o 03
216 ) 2 [ 105 % B 75 50 52 o7 y ) s 3 T [ [ 5 ) ) = 50 o 9 ) 52 57 3 2 ®
Absolutely certain 5% % 2% 50% 52% 9% % a5% 2% 51% 50% 2% 7% 2% 4% 2% - - 3% 3% 4% 7% 6% 5% 8% 25% 57% 8% 2% 2% %
T C ] o w T T z 3 <
o7 5 55 & 7 £ ) E) E i o1 ) 39 ) T z [ [ % B % @ % [ % E) £ £ 7 El T
Faiy certain 2% 2% 53% % 3% % 6% % 2% 20% 2% 5% 2% 57% 3% 2% - - 1% 8% 3% 3% 31% 5% 30% 3% 35% 3% 3% 9% 0%
OE JKL W W W ab
3 ) 77 6 ) 3 G ) 3 T 7 iz ) 7 5 [ T [ [ 7 ] 5 3 ] 7 T 7 7 7 7 5 i
Not very certain 0% 7% 2% 6% 7% &% - 5% % 0% 7% % 3a% 7% 5% - 0% - - % 1% 8% 7% 0% 8% - 8% 8% 7% 2% ™% 10%
DE 3 3 3 IR 3 3
iz 7 7 7 7 5 3 5 3 T T 3 T 3 T [ z [ [ 3 T T z 3 T T z T T 2 z 3
Notat al certain 2% % % % % % % % % % % 2% % % % - 2% - - % % 1% 2% % 2% 2% % 1% 1% % 3% 3%
- 68 253 225 106 Tz 201 7 g 66 2 o1 o1 ) £ 2 7 s [ [ I & 7 %2 o 3 2 5 o % 52 7 03
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% T00% T00% 100% 100% 100% T00% 100%
7
a12 221 191 148 180 70 95 148 99 [ 178 2 83 2 4 4 30 55 64 84 78 80 21 47 84 o1 38 64 89
128 58% 5% 5% 91% 59% 96% 51% 59% 9% 92% 92% 6% 9% B1% 00% 6% - - 7% 4% 1% 91% 86% 90% 9% 88% 91% 92% 2% 91% 7%
B T T 9 9 w w T T < <
5 2 £ 7T ) 2T 3 7 ) ) 5 5 ) o 3 [ z [ [ T i 3 5 7 5 T 7 5 5 ) 7 )
B28 2% o% 5% 20% % 1% % 9% 1% 1% % % 37% 1% To% - 3% - - 2% % % % 1% 0% 2% 2% % 8% 26% % 3%
A OE ] IR plS i3

Proportions/Means: Columns Tested (5% sk level) - A/B - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - clde Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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And, assuming you can' vote for your first choice, which party would you support as a second choice?

EDUCATION DECIDED-VOTE}

FEMALE
Would not

The TheNew  TheBloc vote/None/W  Don't
Conservativ The Liberal Democratic Québécois The Green  Peopl Orsome ould spoil  Know/Not
TOTAL WMale Female Univ Grad Party Party  Party (NOP) _ (BQ) Party Party other party _ballot E
A B c D E F G H ] 3 K L M N o P o R S T Y z a b c d

Base: Decided Voters Leaners 717 344 373 134 268 314 36 116 326 238 156 293 65 31 64 7 Z 0 o a1 53 120 149 149 26 51 148 145 &3 121 169
Weighted 378 156 182 76" 138 165 63" ) 135 53 3 158 25" 73" 25" 7 i E E 30+ 75+ 57+ 81 76 16+ 36" 0 81 70 ER 8

45 16 29 9 18 18 ey 12 12 10 0 27 3 3 1 0 [ 0 [ 3 6 3 14 10 8 0 7 7 5 5 10 1
The Consenvative Party 12% A 16% 12% 13% 1% 18% 14% % 1% - 7% 10% 18% 5% 12% 13% - - 10% 1% 6% 18% 13% 10% 3% 1% 8% 7% 13% 19% 15%

A N 3 N 3 U

37 2 15 7 3 7 B 12 3 fEy 1 0 3 12 7 o o 0 o 3 7 3 7 g g 1 2 10 10 5 3 7

The Liberal Party 10% 1% D % 10% 10% % 13% % 1% 15% - 20% 16% 23% - - - - 1% 8% 10% 9% 1% 10% 7% 4% 13% 12% 13% 5% 8%
K K K K

7 a & 16 % 3 18 g %4 % 15 EJ 0 8 g o 2 0 o 3 10 1 fEy 1 1 7 g 5 21 7 1 10

The New Democratic Party (NDP) 19% 2% 16% 2% 18% 19% 28% 9% 18% 2% 19% 2% - 10% 20% - 75% - - 18% 23% 25% 14% 16% 16% 4% 2% 18% 25% 19% 19% 12%
G [ G T ™ C ™

a1 2% 7 g 15 7 7 7 7 s 3 14 8 o 3 3 o 0 o 2 3 5 s 3 10 [ 3 1 g 3 7 B

The Bloc Québécois (BQ) 1% 12% % 1% 1% 10% 12% E 13% 10% 15% 9% 28% - 12% 63% - - - 8% 1% 13% 10% 8% 14% 3% 16% 14% 9% 7% 7% 11%
M C IKNMN W

3 £ &3 18 %0 27 7 %0 %5 15 11 24 8 19 1 T o 0 o 7 fEy 7 3 1 1 7 g 1 3 10 7 1

The Green Party 7% 7% 7% 23% 14% 7% 6% 23% 19% 16% 13% 16% 28% 26% % 25% - - - 23% 23% 12% 16% 15% 16% 2% 22% 15% 16% 25% 13% 17%
F F N KN KN

21 4 7 3 10 7 7 3 11 3 8 8 1 1 2 o o 0 o 3 1 5 5 1 1 1 3 3 2 1 7 2

The People’s Party of Canada, 5% 7% % 8% 7% % 6% % e % 10% 5% % 2% 5% - - - - 18% 2% 9% 6% 2% 2% 8% 16% 7% 3% 2% 7% 2%
E E T M WX b

) 5 3 3 7 B 3 5 2 2 3 T 3 T o o 0 o 1 0 2 7 7 [ [ [ 3 2 1 3 2

Some other party E E % % 5% % % % % 2% % 2% 5% 5% % - 12% - - 2% % 3% 6% 5% - 2% - 4% 2% 2% 5% 3%
X X

87 ES) a8 10 3 a6 15 %4 27 21 21 a2 2 7 5 o o 0 o 3 7 1 18 21 %3 2 3 16 20 g 5 %

Don't Know/Not sure 23% 20% 21% 13% 2% 28% 2% 27% 20% 23% 25% 27% 6% 23% 19% - - - - 10% 16% 21% 23% 29% 31% 1% 7% 20% 25% 19% 25% 31%
© T T T T T z
Sigma 379 1% 182 76 139 165 63 89 135 93 82 158 29 73 29 @ 3 o o 30 3 57 81 73 76 16 36 80 81 40 59 83
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - - 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIXIY - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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In your opinion, who is going to win the upcoming federal election?
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MALE

FEMALE

Detailed Tables

TOTAL Vale Female e Party party  Party (NDP) _— (BQ) party Party ___other party __ballot ure
A 8 c ) 3 F G H I 3 3 L ] N o 3 o R s T [ v X 2 z a b c d e
Base: All ;espondents 004 58 546 197 386 421 56 166 56 526 173 27 73 150 &5 4 6 63 140 57 140 162 204 166 35 79 169 90 Tis To7 21
Weighted 01 285 316 129 21 252 106" 16 214 15 101 1o ER o 32 o & 207 e 5 82 % 23 107 2 o 10 115 68 Y] 137
126 72 56 % El @ 5 ) 52 % 75 ) G T 7 T [ 7 5 s [ % B 20 2 0 [ B % & % %
The Consenative Party 21% 2% 8% 20% 2% 9% 1a% 2% 2% 21% 75% 7% 6% 19% 1% 36% - 0% 5% 20% 20% 23 25% 16% 2% 6% 30% 28% 20% 2% 21% 18%
5 RLMNQR KR KR
271 128 o1 % 2 % 59 %2 73 T 15 3 E 6 0 3 T i o 3 3 56 51 5 T B 57 E ES T El
The Liberal Party 5% 0% 7% 2% 2% 2% % 3% 5a% 5% 79% 39% 1% 52% - 52% 26% 19% 1% 51% 3% 5% 2% 2% G5% 6% 52 51% 9% 3% 39%
GH JTINGR R R 1R
14 s 7 7 3 0 G 7 7 T T s 3 0 0 0 0 T 5 3 3 T T 2 0 2 2 2 5 T T
The New Democratic Party (NDP) 7% 2% 5% 2% % - % 2% 3% % 0 21% 3% 2% - - - 1% 11% 3% 3% 1% 1% 2% - % 2% 2% 7% 1% 1%
OE TRINQR K WX e
5 9 G 5 7 3 7 2 7 2 0 0 0 7 T 2 0 0 0 3 3 5 2 3 0 0 T 2 2 T 5 0
The Bloc Québécois (BQ) 2% 3% 2% % 3% 1% 7% 1% 2% % - - - 12% 2% 52% - - 0 % 3% 5% 2% 2% - - 7% 2% 2% 2% % 0
£ T JRLNGR K X X X e
8 7 3 5 2 T 2 2 T 2 0 3 0 T 3 0 0 0 0 7 T T T 0 T 0 2 2 0 3 0 T
The Green Party % % % % 1% 0 % 1% 1% 2% - 2% 1% % 9% - - - [ 5% 1% 1% 1% - 1% - % 2% g % - 0
E JRMQR TOVWX 3
2 T 2 1 T 0 0 0 2 0 0 0 T 0 0 0 0 0 T T 0 0 0 0 0 0 T 0 0 0 T 0
The People's Party of Canada 0 0 0 % 0 0 - - % 0 - - 2% 0 - - - % % % 0 0 0 - - 2% % - - 0 % 0
2 2 0 0 0 T 0 T 0 0 0 0 T 0 0 0 0 0 0 0 0 0 0 T 0 0 0 0 T 0 0 0
or some other party. 0 % - - [ 1% - 1% [ - 0 - 3% - - - - - - - - - [ 1% - - - g 1% - - -
®
162 ] i) B 56 £ E3 ] EJ % ) % 7 B 7 0 3 % &7 5 7 £l 3 a El T % i3 27 7 T E3
Don't Know/Not sure 27% 7% 36% 18% 25% 33% 33% 29% 27% 9% 10% 2% 1% 2% 2% 2% 8% 61% 72% 2% 2% 2% 26% 37% 3% 7% % 1a% 2a% 26% 36% 1%
) c T T T K K IKLMN | IKLMN STU S Z ©
Base: Excluding DK 439 106 165 169 i 04" 156 108 o1 7 Ea i 25 - £ o 26 e = 74 o1 76 72 20 = 51 57 50° 7 B
128 % El 5 15 £ 52 % 75 £ 6 5 ) T 0 [ 5 s 17 % B 20 2 7 15 Bl % 8 % %
The Consenative Party 29% 25% 3% 29% 21% 3% 3% 26% B3% 8% 20% 25% 8% 1% - 25% 8% 2% 26% 31% 343 26% 3a% 20% 3% 3% 2% 6% 32% 31%
RLMNR K K K O <
271 128 61 % 2 0 El %2 73 5 15 15 3 16 0 3 T [ o w2 w2 56 51 5 © % 57 E ES T El
The Liberal Party 62% 63% 58% 59% 66% 5% 57% 59% 7% 6% 90% 7% 53% 66% - 100% 73% 70% 4% 6a% 579% 61 &7 625 78% 50% G0% &7 G5% 58% G6%
JTUNR 7 7 7 7
14 7 s 7 7 3 0 & 7 7 T T s 3 0 0 0 0 T 5 3 3 T T 2 0 2 2 2 5 T T
The New Democratic Party (NDP) 3% 3% % 7% % % - &% 3% % % 0 26% % % - - - 5% 2% % % 1% % 3% - % 3% 2% 0% 2% 2%
OE IKMNR K K e
5 5 & 5 7 3 7 2 7 2 0 0 0 7 T 2 0 0 0 3 3 5 2 3 0 0 7 2 2 T 5 0
The Bloc Québécais (BQ) 3% % 3% 5% % % 1% % 3% % - - - 16% 3% 59% - - % % % 7% % % - - 8% % 3% % 7% o
Gl IKINR K X ©
s 7 3 5 2 T 2 2 T 2 0 3 0 T 3 0 0 0 0 7 T T T 0 T 0 2 2 © 3 0 T
The Green Pary. % % % 5% % % 3% % 1% 2% - 2% 1% 1% 11% - - - % 0% % % 1% - 1% - % % 0 % - 1%
= IR @
2 T 2 1 T 0 0 0 2 0 0 0 T 0 0 0 0 0 T T 0 0 0 0 0 0 T 0 0 0 T 0
The Peaple's Party of Canada 0 0 % % [ 0 - - % 0 - - % 1% - - - % 3% 1% 1% 1% 0 - - 2% 1% - - 1% 1% 0
K
2 2 0 0 0 T 0 T 0 0 0 0 T 0 0 0 0 0 0 0 0 0 0 T 0 0 0 © T 0 T T
or some other party. [ % - - [ % - % [ - 0 - W% - - - - - - - - - [ % - - - g 1% - - -
K
Soma 439 257 202 106 165 169 7T 104 156 108 o1 7 32 72 25 7 3 T % i &5 7 o1 76 72 20 55 51 &7 50 i &1
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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FED VOTE
Stab

(1 will regret it if | dont vote in the upcoming federal election) Do you agree or disagree with the following statements?2 Using a scale of 1 to 7 where 1 means you strongly disagree and 7 means you strongly agree. The first statement s,
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FEMALE

Detailed Tables

TOTAL WMale Female e Party r Party (NDP) _(BQ) Party Party other party _ballot surt
A B D E F G H ] 3 K L M N o P o R S T u v X Y z a b © d e
Base: All ©espondents 1004 58 546 386 421 56 166 756 326 173 327 73 150 68 7 3 63 140 57 140 182 204 186 B 79 189 190 118 167 251
Weighted 601 285 316 221 252 106" 146 214 135 101 194 ER 54 2 7 [ 70" 53" 76" 3 £ 123 107 24+ 61" 110 115 68" 112 137
267 123 144 80 136 36 64 106 61 ar 54 20 51 1 3 [ 6 33 17 34 35 2 61 59 16 24 a2 56 26 37 80
7 Strongly agree. 4% 43% 45% 36% 54% 34% 4% 50% 45% 46% 48% 51% 55% 43% 75% 6% 14% 35% 36% 41% 36% 36% 50% 56% 67% 40% 39% 49% 39% 33% 58%
[5) F Q Q Q R Q Q W STV o
50 a EJ 12 0 37 10 %0 2 % 21 27 4 10 7 o 1 1 10 7 s 5 5 1 21 2 7 7 % g 3 15
6 13% 15% 1% % 14% 15% 10% 14% 1% 19% 21% 1% 1% 10% 21% - 10% 2% 1% 9% 10% 15% 13% 12% 20% 9% 7% 16% 19% 12% 12% 11%
H MQ Q Q T z
6 ES E 16 &3 21 16 4 %5 14 10 29 5 1 3 o 2 2 3 7 1 16 5 10 g 2 7 18 11 g 3 1
5 1% 13% 10% 12% 14% E 15% 10% 12% 10% 10% 15% 1% 13% 10% - 33% % 6% 9% 1% 7% 12% 8% 9% 9% 12% 17% 9% 13% 12% 8%
E R W
67 2 a 16 3 19 %0 12 % g fEy 27 2 3 7 o o 1 16 3 fEy 11 21 10 7 2 3 10 7 10 % 1
4 1% 8% 14% 13% 14% 8% 19% e 12% 7% 1% 1% 6% 6% 1% - - 2% 1% 12% 13% 1% 17% 8% 6% 8% 10% 9% 6% 15% 20% 9%
A E of T Q MQ X e
e %0 18 ey 15 12 12 g 10 7 5 3 T 7 2 o o 2 15 5 3 7 B 10 [ 1 g 3 3 3 B 5
3 6% 7% 6% 9% 7% 5% 12% 6% 5% 5% 5% 3% 2% 8% 5% - - 2% 17% 10% 8% 7% 7% 9% [ % 13% 5% 5% 5% 8% 4%
KL X X X X X
16 7 g 3 3 7 0 5 5 3 3 7 2 2 2 o o 2 2 4 1 3 3 3 1 [ 3 2 2 3 7 2
2 E 2% % % % 2% - % % 5% % 2% % 2% 5% - - 6% 2% 9% 2% 3% 3% 3% 1% - 5% 2% 2% 4% 4% 2%
X
3 £ &3 16 27 7 12 73 19 fEy 7 7 5 5 2 T 3 27 fEy 7 10 fEy 16 3 g 1 g 1 1 g 3 1
1 Strongly disagree 11% 12% 10% 13% 12% 9% 1% 16% 9% 8% 4% 3% 12% 6% 5% 25% 50% 68% 12% 14% 12% 11% 13% 11% 8% 4% 13% 13% 10% 12% 12% 8%
I K JKLMNR K
601 285 316 129 221 252 106 146 214 135 101 194 39 54 32 7 3 a0 %3 a6 8 % 123 121 107 24 61 110 115 68 112 137
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
415 203 213 79 141 195 62 98 154 101 78 150 29 73 23 3 3 8 49 25 54 66 75 84 %0 20 36 78 89 43 64 106
3B 69% 1% 67% 62% 64% 7% 58% 67% 2% 75% TI% 7% 76% 78% 73% 75% 50% 20% 53% 5% 65% 68% 61% 70% 8% 85% 59% 71% 78% 6% 57% 77%
[5) F F R R R R R Q STOVW z o
347 167 180 63 110 17 a5 ) 130 87 8 120 24 61 20 3 T 3 a3 21 a 50 60 7 81 i 2 60 78 3 50 5
28 58% 59% 57% 49% 50% 69% 43% 57% 61% 64% 67% 62% 61% 65% 63% 75% 1% 16% 6% 5% 51% 51% 8% 62% 76% 76% 7% 55% 68% 51% 45% 70%
=) F F R R 9 R Q Q v STOVW Za o
119 50 59 33 ) 38 2 36 34 %5 12 17 7 15 5 T 3 31 28 16 B 20 %8 26 10 2 1 % 18 1 %6 19
B38 20% 21% 19% 26% 2% 15% 23% 25% 16% 19% 12% % 18% 16% 16% 25% 50% 78% 30% 33% 2% 21% 22% 22% 9% 7% 31% 20% 17% 21% 23% 10%
E Gl IKLVNR KM X X X X X b
82 0 at 2 33 % i 28 2 B 7 i 3 s 3 T 3 30 3 EEY EEY 1 20 16 10 T 11 16 3 1 7 3
828 14% 14% 13% 7% 15% 10% 1% 19% 1% 13% 7% 6% 16% 8% 10% 25% 50% 7% 14% 23% 1% 14% 16% 13% 9% 4% 18% 15% 1% 16% 16% 10%
H K JKLVINR K X
rean 53 53 53 49 5 57 49 51 55 54 57 57 54 57 55 55 32 23 48 At 51 51 49 54 59 61 48 52 56 5 48 57
) R R 9 R R Q STOVW z o
Standard Deviation 2 21 2 21 21 19 2 22 2 2 17 16 21 18 18 3 25 22 21 23 21 2 21 21 18 15 22 21 2 21 2 19
Standard Eror 01 01 01 02 01 01 03 02 01 01 o1 o1 02 o1 02 is T 03 02 03 02 o1 o1 o1 o1 03 02 o1 o1 02 o1 o1
Median 56 56 56 49 5 61 46 55 6 57 58 59 3 61 56 3 T T a4 a5 51 51 a9 5 61 63 a8 53 59 51 a6 61

Proportions/Means: Columns Tested (5% sk level) - AIB - C/DIE - FIG/HII - JIKILIMINIOIPIQIR - SITIUNIWIX/Y - Zlalb - cldle Overiap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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FED VOTE
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(1 have a duty/personal responsibility o vote in the upcoming federal election) Do you agree or disagree with the following statements 2.Using a scale of 110 7 where 1 means you strongly disagree and 7 means you strongly agree. The first statement is.
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Detailed Tables

TOTAL WMale Female e Party r Party (NDP) _(BQ) Party Party other party _ballot surt
A B c D E F G H ] 3 K L M N o P o R S T u v X Y z a b © d e
Base: All ©espondents 1004 58 167 386 421 56 166 756 326 173 327 73 150 68 7 3 63 140 57 140 182 204 186 B 79 189 190 118 167 251
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(1have a great deal of interest in following the news and information about the upcoming federal election) Do you agree or disagree with the following statements 2.Using a scale of 1 to 7 where 1 means you strongly disagree and 7 means you strongly agree. The first statement i.
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‘Thinking about the Liberal government under the leadership of Justin Trudeau, from what you have seen, read or heard, would you say that you strongly approve, somewhat approve, somewhat disapprove or strongly disapprove of their performance?
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Some people say that the Liberal government under Prime Minister Justin Trudeau has done a good job and deserves to be re-elected this year. Other people say that it is time for another federal party to take over and run the country. Which of these stateme
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‘Generally speaking, would you say that things in this country are heading in the right direction, or are they off on the wrong track?
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